
GARDENSPIN TRIMAX
 

Montageanleitung
Assembly instruction

   

   

R1-99765 / 30-07-2013 / Rev. 31-10-2013

MMenck
Textfeld
Sania mit Trimaxstufen




2

× 11
Ø125cm: K2-30325
Ø155cm: K2-30355

× 1
Ø125cm: K2-30425
Ø155cm: K2-30455

× 11 × 1

× 1
K2-39285

× 1
K1-39296

× 29
K2-30315

× 1
K1-30117

× 2
K1-30040

× 1
K2-30030

× 1
K1-30035

× 1
K1-30031

× 29
K1-39050

× 1
K1-31220

1 2

3 4

   

5 6 7 12 13 14

8

9

10

11



3

× 11
Ø125cm: K2-30325
Ø155cm: K2-30355

× 1
Ø125cm: K2-30425
Ø155cm: K2-30455

× 11 × 1

× 1
K2-39285

× 1
K1-39296

× 29
K2-30315

× 1
K1-30117

× 2
K1-30040

× 1
K2-30030

× 1
K1-30035

× 1
K1-30031

× 29
K1-39050

× 1
K1-31220

1 2

3 4

   

5 6 7 12 13 14

8

9

10

11

 1080 

× 1
K1-39292

 1060 

× 11
K1-39291

 960 

× 6
K1-39295

 956 

× 10
K1-39290

× 1
K1-30015

× 1
K2-30051

× 1
Ø125cm: K1-39120  6,3m
Ø155cm: K1-39119  8,3m

× 1
Ø125cm: K1-39104  725mm
Ø155cm: K1-39105  905mm

× 2
K1-39000

× 1
K2-39280

× 4
K1-39010

× 1
K2-39281

Ø125cm: × 144
Ø155cm: × 148
K3-06062
Ø6×40

× 8
K3-06070
Ø10×60

× 8
K3-04040
Ø10

× 8
K3-08001
Ø12×60

× 16
K3-02039
Ø8×16

× 28
K3-05020
M8×8

× 9
K3-08002
Ø8×40

Ø125cm: × 54
Ø155cm: × 61
K3-05055
M6×5

Ø125cm: × 27
Ø155cm: × 28
K3-01001
M5×14

Ø125cm: × 17
Ø155cm: × 30
K3-03020
M5

× 2
R1-63272
Ø6×25

× 1
K3-90001

× 3
K3-02096
M6×12

× 4
K3-06058
Ø4,8×16

× 2
K3-02005
M5×18

× 1
K1-30067

× 16
K3-02039
M8×16

15 16 17 18 19 20

21

22

   

23 24 25 26

50 51 53 54 55

56 57 58 59 60 61

62 706963

27

52



4

× 7
K3-06070
Ø10×60

× 7
K3-04040
Ø10

× 7
K3-08001
Ø12×60

× 2
K3-05021
M8×10

× 87
K3-05055
M6×5

× 9
K3-08002
Ø8×40

Ø125cm: × 30
Ø155cm: × 3
K3-03050
M5

Ø125cm: × 30
Ø155cm: × 31
K3-01201
M5×14

× 1
K3-90001

30 mm

3 mm
4 mm

× 2
K3-03054
M20

× 2
K3-04021
Ø20

× 1
R1-63272
Ø6×25

× 1
K1-39214

× 2
K2-19210

Ø125cm: ×4
Ø155cm: ×5
K1-39030

× 9
K3-06022
Ø5×35

Torx 25

   

R1-99770-002

525150 53 54 55 56

57 58 59 60 7069

27 28 33



5

 H 

 S 

 S 

S = 
H
N

N 

gesamte Höhe
total height

Steigungshöhe
height step-to-step

Anzahl Steigungen
No. of rises

S = 180 ... 220 mm

   

   



6

C
638mm

 A 

 B 

 R624mm 

– +

 B 

 A 
C

793mm

 R773mm 

– +
   

   

Ø 125 cm

Ø 155 cm

C
638mm

 A 

 B 

 R624mm 

–+

 B 

 A 
C

793mm

 R773mm 

–+
   

   

Ø 125 cm

Ø 155 cm

C
638mm

 A 

 B 

 R624mm 

–+

 B 

 A 
C

793mm

 R773mm 

–+
   

   

Ø 125 cm

Ø 155 cm

B

B



7

C
638mm

 A 

 B 

 R624mm 

– +

 B 

 A 
C

793mm

 R773mm 

– +
   

   

Ø 125 cm

Ø 155 cm

1 50

3

 140mm 

50

7

51

5

27

 140mm 

 44mm 

   

   

1

2 3

1 50

3

 140mm 

50

7

51

5

27

 140mm 

 44mm 

   

   

1

2 3

1 50

3

 140mm 

50

7

51

5

27

 140mm 

 44mm 

   

   

1

2 3

Vorne
Front

Vorne
Front



8

4

50

50

50

7

7

8

6

50

   

   

6

4

5

 8mm 

 12mm 

 C 

12

 12mm   70mm
 

 8mm   70mm

53

54

55

12

13

14

9 52

1413

52

   

   

7

8

9

10 a

b

c

d

4

50

50

50

7

7

8

6

50

   

   

6

4

5



9

4

50

50

50

7

7

8

6

50

   

   

6

4

5

 8mm 

 12mm 

 C 

12

 12mm   70mm
 

 8mm   70mm

53

54

55

12

13

14

9 52

1413

52

   

   

7

8

9

10 a

b

c

d

Schrauben
ganz eindrehen

Tighten screws 
completely

Schrauben
wieder raus-
drehen

Turn out screws

Schrauben
ganz eindrehen

Tighten screws 
completely

Schrauben
wieder raus-
drehen

Turn out screws



10

 8mm 

 12mm 

10

15

11

57

 12mm  70mm

 8mm  70mm

55 54 53

   

   

11 12

13



11

 8mm 

 12mm 

10

15

11

57

 12mm  70mm

 8mm  70mm

55 54 53

   

   

11 12

13  5mm 

 8mm 

 S 

57

 140mm 

 140mm 
 40mm 

 S 
58

 5mm  50mm

 8mm  50mm

59

50

57

57

   

   

14

15 16

17



12

19 20

57
10

15
16
17
18

59

16

× 4

   

   

18 19

20



13

19 20

57
10

15
16
17
18

59

16

× 4

   

   

18 19

20

~ 50 °C
21

~ 50 °C
~ 90 °C

31242321

   

   21 22

23

32



14

24

22

 Min. 10cm 

H2O
~ 90 °C

0,9 l/m



22





 Min. 100mm H2O
90 °C

0,9 l/m

Max
10mm

69

Ø 3,5mm

   

   

R1-99770-045

32a

32b

34

33

24a

24b

25

26

23



15

STOP

60

61

   

27

28

STOP

 3 

 2 

 1 

60

59

   

   

R1-99770-047

35 37

38

39

36

31

30

29



16

17

61

60
Ø 5mm

   

   

32 33

34 35 36 37



17

17

61

60
Ø 5mm

   

   

32 33

34 35 36 37

 4mm 

 5mm 

59

60
61

70

 5mm 

 4mm 

60

61

62

24

25

25

70

   

   

38 39

40 41



18

 5mm 

22

59

26

62

61

60

 5mm 

25

70

   

   

42 43

44 45



19

 5mm 

22

59

26

62

61

60

 5mm 

25

70

   

   

42 43

44 45

12

11

  8mm 
 S 

 S – 40mm 

   

   

R1-99775-030

12L

13 14

15

16

12
L+R

12R

12

11

  8mm 
 S 

 S – 40mm 

   

   

R1-99775-030

12L

13 14

15

16

12
L+R

12R

12

11

  8mm 
 S 

 S – 40mm 

   

   

R1-99775-030

12L

13 14

15

16

12
L+R

12R

12

11

  8mm 
 S 

 S – 40mm 

   

   

R1-99775-030

12L

13 14

15

16

12
L+R

12R

49

4847

46L 46R 46
L+R

50


